
https://www.pass4itsure.com/e20-542.html
2024 Latest pass4itsure E20-542 PDF and VCE dumps Download

 

 

 

E20-542Q&As

VMAX3 Solutions and Design Specialist Exam for Technology
Architects

Pass EMC E20-542 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/e20-542.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

 

 

E20-542 VCE Dumps | E20-542 Study Guide | E20-542 Braindumps                                1 / 3

https://www.pass4itsure.com/e20-542.html
https://www.pass4itsure.com/e20-542.html
https://www.pass4itsure.com/e20-542.html


https://www.pass4itsure.com/e20-542.html
2024 Latest pass4itsure E20-542 PDF and VCE dumps Download

QUESTION 1

Based on best practce, which drive combinaton is used in VMAX3 two-ter confiuratons? 

A. 10% Flash RAID 5 90% 1.2 GB 10K RAID 6 

B. 10% Flash RAID 6 90% 1.2 GB 10K RAID 5 

C. 20% Flash RAID 5 80% 1.2 GB 15K RAID 6 

D. 20% Flash RAID 6 80% 1.2 GB 15K RAID 5 

Correct Answer: A 

 

QUESTION 2

How can a TimeFinder SnapVX snapshot be terminated when there are linked tariets in NoCopy mode? 

A. Unlink the tariet and terminate 

B. Set the "Time to Live" on the linked tariets and terminate afer they expire 

C. Relink the tariet or chanie the mode to Adaptve Copy Disk and terminate afer the copy completes 

D. Re-set the ieneraton number on the snapshot and terminate 

Correct Answer: A 

 

QUESTION 3

You are desiinini an SRDF/A soluton between two VMAX3 arrays. The customer wants to know what will happen to an
actve SRDF/A session if there is a temporary link loss. What informaton should be provided to the customer? 

A. SRDF/A session remains actve. Cycle switchini contnues on the R1 side, transmit queue depth increases. 

B. SRDF/A session remains actve. Cycle switchini stops, capture cycle irows. 

C. SRDF/A session drops. Cycle switchini stops. New writes to R1 are tracked as invalids to R2. 

D. SRDF/A session drops. Cycle switchini stops. New writes to R1 are added to the transmit queue. 

Correct Answer: A 

 

QUESTION 4

What will be the status of the links in a query afer an SRDF suspend operaton? 

A. Not Ready 
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B. Tariet Not Ready 

C. Suspended 

D. Not Available 

Correct Answer: A 

 

QUESTION 5

You are in a meetni with a customer discussini VMAX3 eniine scalability. What is the maximum number of eniines that
can be confiured on a VMAX 400K? 

A. 4 

B. 6 

C. 8 

D. 16 

Correct Answer: C 
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